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CERTIFICATE IN CRAFT AND DESIGN 
(POTTERY) (CCDP) 

Term-End Examination 

June, 2014 

OET-001 : WORLD OF CLAY 

Time : 3 hours 	 Maximum Marks : 70 

Note : Answer six questions in all. Question no. 1 is 
compulsory. Answer additional five questions 
from the remaining part. 

(Compulsory Questions) 

1. Choose the most appropriate option from the 
following : 	 10x2=20 

(i) Which of the following statements is wrong 

for the glazed pot ? 
(a) Glazing increases the shine and look of 

the pot. 

(b) Glazing increases the durability of the 
pot. 

(c) Glazing pots can be cleaned and reused 
many times, thus increasing their 
utility. 

(d) Glazed pots cool the water stored in 
them in summer. 
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(ii) What is added as temper to clay whose sand 
content is low ? 

(a) Sand 

(b) Ash 

(c) Cow-dung 

(d) Stone 

(iii) Firing is done after drying of pot. 

(a) True 

(b) False 

(iv) Sieve used for clay sieving is measured in 
the unit 

(a) inch 

(b) cm 

(c) pH number 

(d) Mesh number 

(v) Example of organic form is 

(a) computer 

(b) a piece of cloud 

(c) a rectangular table 

(d) globe model 

(vi) On what basis is "Going Rate Pricing" done ? 

(a) On the basis of production cost 

(b) On the basis of auction 

(c) On the basis of market rate of the 
similar product 

(d) On the basis of interest of the customer 
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(vii) Which of the following solutions is used to 
join coils and slabs of clay ? 

(a) Gum 

(b) Water 

(c) Cement slurry 

(d) Clay slip 

(viii) Which are the four variables of marketing 
mix ? 

(a) Clay, wheel, kiln and market 

(b) Colour, glaze, clay and pot 

(c) Catalogue, questionnaire, customer and 
pot 

(d) Product, price, promotion and place 

(ix) "Khadag Singh" returned "Sultan to Baba 
Bharti" because 

(a) Baba Bharti loved Sultan too much. 

(b) Khadag Singh did not like Sultan. 

(c) It was difficult to tame Sultan. 

(d) Baba Bharti's actions changed the life 
of Khadag Singh. 

(x) Approximately how much time is required 
for ageing of clay ? 

(a) 3 — 4 hours 

(b) 2 — 3 days 

(c) 3 — 4 weeks 

(d) 2 months 
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2.  Draw a sketch of children coming out of a school. 10 

3.  Show the method of making a clay jewellery box 

with the help of sketches. 10 

4.  Draw a sketch of a clay idol. 10 

5.  Prepare a catalogue for a cup and plate made by 

you. 10 

6.  Draw any scene of the story where Baba Bharti 

is talking to Khadag Singh. 10 

7.  A potter sells an idol for T 200. He earns a profit 

of 20%. Find out his investment on the idol. 10 
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(i) Pi-irdrud 4 A ,41.i-Rr 	trr-11-  
yRut ? 

(a) Ics),71-1 	clH 	 3 	Alcf1 
t I 

(b) TAT4tIT1 	cH-ardRT A'q 	t 

(c) 1(")•.11.-1 	wg 
chi 4R Me1)+I 4 ottil 	tichii t, TEf Nchlk 

3.11 \Nei JICII   t 

(d) 	trrAl 4 xii* .((s 	A TO-41 4 trr-41dsI 
	t 
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(ii) 111 1141. 	tff  	*th ' .3-1 • 

trq 	 fa r2* -q -f4T:r 7Ert -o-rfi? 

(a) tic 

(b) ukg 

(c) 	 
(d) -c1T-21T 

(iii) 61(1-1 (i) 	-ur4* 	aTrrr -4 trwrzfr 	t 

(a) ti ci 

(b) 	 

(iv) *ft •qr-o-4 (01,1 	 )   sr-zj 	c4't 1:171-  

cl*1 r+1 -4 	•11141 t? 

(a) tq' 
(b) 	 

(c) .1(.9e.1 I 

(d) 	"t441 

(v)Ar4T aTIWR dtWul t 

(a) cto-i-eLe.* 

(b)  

(c) • 3-1171-dr*-7 

(d) 	 iliso 

(vi) "waRid 	Wt-ut" 6ki alTtITT 	ichen •31111 

(a) ftl:TfuT 	it-RT* 3W-TR 

(b) arcITT 

(c) 3-0:rfq * ro 411,AR -11 	d 3T14 

alr417 tiT 

(d) -grff 	* 3-1TUTT 
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(vii)  	 (TN) 4 aTrEm A 

A   Pi-iroRNo A A-  PtAi 41M 	mei 

4)441  

(a) Triq 

(b)  

(c) Ift4Z 	 

(d) f+iart 

(viii) -grAferr -fir4v*'W( ciTa m1-1-14 # ? 

(a) ii4t, "clIch, 	34-( cmAik 

(b) atIK trri 

(c) keFfTT, 51q-11c1C11, ;1W4) 311-( tn7 

(d) 3c41‹, 	"ST)-A 31:947 (id-qui) 

6,(Nvi  gie  4 gg.474.1 	 clitm  

R441 etY-1. 4) 

(a) T ITR-t W- TR• a aid /AR ctIt 	I 

(b) (siVT f 	i 	cb,c11 KT I 

(c) 	ErT*-a ?TT I 

(d) TT 1-TRt 	tW kgsTr rk:i 	iT ,3111.1 

(ago R 	'4l I 

(x) \*T1,1 A 	r 	w-tei 	? 

(a) 3 - 4 

(b) 2 -3 

(c) 3- 

(d) 2 4-igi 
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2. 1-11,6iir1114 GIW aTA 	*04) 	) m11 ARri7I 	10 

3. -Prft 31-rvir 	el.,Ia 	 Pc1/1 

-gram f-quq7I 	 10 

4. TTY 0 Pc1 1 .-4T7I 	 10 

5. 3Trck qR1 m-IR 717 WT W211l';)Z 	 

tlf4R I 	 10 

6. 1-TTtt 331-t (-1V1  	%I:ft 

?e4 	 -4—sr-{7 W-A7 	10 

7. k;c4) TT-67 .T 200 14 	f, TO 	t 1314 20% 

FM 6)(1I t I TR UFQ.  civic( X11 	dW47 I 	10 
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